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(New)

Time - Three Hours] [Maximum Alarks : 75

Note: Attempt questions from all Sections as per
instructions.

Section-A
(Very Short Answer Questions)

1]

Attempt all the five questions. Each question camies

I marks. Very short answer is required. Ix5=15
l. Explain square matnx.
2 Whatis diagonal matrix ?
1 Explain inverse of matrix.
4. Find the simple interest on Rs, 8,000 for 6 ycars at an
annual rate of 5%.
s 5}
5. Find the valucof  Cj;.
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Section-B
{Short Answer Questions)
Alempt any ruo qucstiuu-. out af the following three

Questions  Fach question carmies 7%, ks, Short

answer 1s required. JVi=2=15
{] Fuuld ||...-:;_mknﬁn.-|m.~.
I 2 3
Ffy 1 2
¥ 1 I
7 A cncket club has 18 members among whom are

1 wicker-keeper, S are bowlers and rest are batsman.
In how many ways can a team of 14 players be
sclected out of them so that it may have | wicket-

keeperand at least three bowlers ?

Wwod ApmIsnsad mmm//sdny

K. Integrate :
1 1
—_— - 5 gl
logx  (logx)”
Section-C
(Detailed Answer Questions)
Attempt any rhree questions out of the following five
questions. Each question carries 15 marks. Answer is
required indetail. 15x3-45
18037
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2 - . -
4. [fy=v - x"-16x+ 106, then find the maxima and mimima

ofthe lunctiony.

i [ 31 [
10.  If A= , B= and (" =] . prove
3 4 4 5 L2 2

that ri[H+f'J =AB+AC.

1. (a) IfA={1,2,3.4].8={2.3.4,5} and (={3,4.5.6},
then provethat :
ANBAC) = (ANBINC .

and AU(BUC)=(AUBYUC.
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(by If y= f-}-: . then find f{'}_. atx =4,
2vx oy

= -

12. (a) A person decides to save Rs. 400 in January,
Rs. 800 in February, Rs. 1,600 in March,
Rs.3,200 in April up to the end of the year. What
will be his total savings during whole year ?
(b) I7thtermofaH.Pas 1/10and | 2th termas 1725,

find the 20th term.
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(a) 85 Kg. of a mixture contains milk and water
the ratio 0 27:7. How much more water is 1o be
added to get a new mixture containing milk and
watcrintheratioof3:17?

(b}  Atwhat rate percent per annum will be Rs. 1,200
amount to Rs. 1,350 in 3 years, interest being
calculated ycarly ?

(¢) The population of a town is 1,80,000. If it
increases @ 6% per annum, what will be its

population after two years ?
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